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TNPSC GROUP 1 / Il PRELIMINARY
WEEK TEST 3 OF MAY, 2023
1. Match the following

States Formation (Year)
A. Kerala 1.1963
B. Nagaland 2.1987
C. Maharashtra 3. 1956
D. Goa 4.1960

A B C D
a. 1 3 2 4
b. 3 1 4 2
c. 4 3 2 1
d 3 4 2 1

e. Answer not known
&6l FTeoTlLBID UL 19UI60&Bm6eT  GUT(HHHIS.

LOMHI6VLD CapmHBmLD (6u(HLLD)

A. Gaxiyerm 1. 1963

B. prameunhg) 2. 1987

C. 0aBTITaQyLD 3. 1956

D. Gasmeur 4. 1960
A B C D

a. 1 3 2 4

b. 3 1 4 2

c. 4 3 2 1

d 3 4 2 1

e. alowL G flwealedensv

2. Modern Odisha was formed in year

a.1926  b.1929  ¢.1936 d. 1939  e. Answer not known
maier eiflam SID OLewI(h 2 (HEUTHSBLILL L G
a. 1926 b. 1929 c. 1936 d. 1939 e. alewL Gxfwalsvenev
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Which constitutional amendment incorporated Puducherry in the Union
of India?

a. Tenth b. Twelfth c. Fourteenth

d. Twenty second e. Answer not known

b Fwemolilsd SpeHsb HHFCFNmw GhH @aBlusSdler CFidss?
a. USHITaUD) b. LieiTeyemTL Teug) C. USROS ToUS)

d. ®musHHulTeRILToug e. alenL Oxflwalsvenev

The Jammu and Kashmir reorganization Act, 2019 is enacted for the
purpose of

i.  Creation of Union Territory of Ladakh;

ii.  Creation of Union Territory of Jammu and Kashmir;

iii.  Bifurcation of the State of Jammu and Kashmir;

iv. Delimitation of Parliamentary Constituencies in Jammu and

Kashmir;
a.iand iii only b. iii only c.iand ii only
d. iv only e. Answer not known

D(LP-BTAROT LOMIGUENT LLIGNBEF FLLID 2019 b CHTHaHHMBHTSH
BlenmCaummLILIL L G

1. LTS UGHeww welwer LFGsaionss

1.  mbp-sTadbemny upeiwer LITGsHFIOTHS

11l. DUDW-STOJILT WTHlevHemnd BFewiLnsll Lfles

1v. @bw-sTadiifleveTen UTTTEDHOSIBS OHTGHHHmen OB FFenoliF GFuiul
a.i & iii wl @ b. iii L Gb C.i wBmid ii oL Bib

d.iv wl G e. alenL OFpflwialedensv

When was the Punjab state bifurcated into Punjab and Haryana?
a.1966  b.1956  c.1963 d.1947  e. Answer not known

LIeh&TLI LOMBlevD, LehaTll oBmid emflwmemmeurs LIfdsiul L gl erioumpg)?

a.1966  b.1956  c.1963 d. 1947  e.alwL GxfNwaledensv

Bordeaux mixture contains

a. CuSO; +lime b. ZnSO, +lime c. HgCl, +lime

d. K;COs+lime e. Answer not known

GuTQUIT&H6erD  H6VM6  6TEITLIGI VG

a. CuSOy +gewtemrTidL| b. ZnSO, + gewrewmby  ¢. HgCly + gewtemmmibyy
d. KoCOs+ gemiemimibLy e. alewL Gxfwalsvenev

Which of the following compound is used as a fertilizer?
a. Ammonium Chloride b. Ammonium Bromide
c. Ammonium Fluoride d. Ammonium Oxide

e. Answer not known
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10.

11.

SPHHMIL 6heHF GO o FoTsll LuwleTUGalEmE?

a. 9IbGwrelwid &GenTeny® b. oubGuoreiwib LGrmeno@®
C. 9IDGomeNWID . .Literhen](hH d. ouGuwrelwn sHma®
e. alewL  OFHflwailsvensn

Find the LCM of the following: 90x2yz3, 150xy?3z2, 225x3y3z

a. 15xyz b. 15x3y3z3 c. 450 x3y?3z3

d. 450xyz e. Answer not known

LereumeueteuBmilesr 16.0um.o. srewr: 90x2yz3, 150xy3z2, 225x3y3z
a. 15xyz b. 15x3y3z3 c. 450 x3y?3z3

d. 450xyz e. allenL  Ozfwalsdeney

The product of two numbers is 432 and their LCM and HCF are 72 and 6
respectively. If one of the numbers is 24 then the other number is
a. 16 b. 18 c.22

d. 36 e. Answer not known

B elewidellent  OL(HBBBLGVET 432  BBID  Sieweusberledt  15.4.0.  OBEBID
B.0um.eu. (1pempBui 72 B@ID 6 DGD. DIeUCAIETTSHTED 6 6Tl 24 6TeN60
LOBOIMIT(H 61601

a. 16 b. 18 c.22

d. 36 e. alenL O fuialedenso

Find the ratio of the HCF and LMC of the numbers 18 and 30

a.1:18 b.1:30 c.18:30

d.1:15 e. Answer not known

18 1oBmIb 30 &lwl eewidaie WB.0L.&ST. OBBID W.8.0 alel aldled SHTens.
a.1:18 b.1:30 c.18:30

d.1:15 e. alenL O fualedensv

The product obtained from coal tar which is used to repel moth and other
insects?

a. Benzene b. Aniline c. Naphthalene

d. Toluene e. Answer not known

&fHaTilel(pha HmLSGWD bl CUTHeT DbHSHIILFS oBBID LB LFFsenern
QUINUSBG LWSTUGSBSHI?

a. Ouestd et b. siefeSen C. BT ISH6S60

d. GLmevuesr e. alewL Gaflwealsdensv

3 | Page PH: 044 - 24339436, 42867555, 9840226187




12.  Match the following:

A. Polyethyleneglycol 1. Herbicide

B. Bt Toxin 2. Stress Tolerance
C. Glyphosate 3. Insecticide

D. Proline 4. Cell Fusion

SIDSHHMIL_BenB  CLIT(HHHIS.

A. umeld e1&Hledenr Hlemenasmed 1. BmensH0HTe060
B. Bt p&Fsel 2. WHS FHUILSHHENLD
C. HamenBGurBai_ 3. UFHH0sme0e
D. yGymedesr 4. 2 _ulyem Benenie)
A B C D
a 3 4 1 2
b. 2 1 4 3
c. 4 1 3 2
d 4 3 1 2
e. allemL  Oxflwalsvensv

13. The left-over slurry in biogas production is a good manure rich in

a. Carbon and hydrogen b. Nitrogen and phosphorus

c. Iodine and Antimony d. Sodium and Calcium

e. Answer not known

o _uifl amy 2 musHHuled  uguib  slheyserled S|6TT6)
WGBS HULSTEO FBHSH 2 _FITELD.

a. MU LOBMID 6MeUBLJE60T b. enbLyegest OBHID LITEOLITerD

C. oBWIMQeT LOBEBID SLEITQ D6 d. Gamguib wBBID STe0F WD

e. alemL OFflwailsvemnev.

14. In Tamil Nadu, the heavy water plant is located at

a. Narimanam b. Kalpakkam c. Kayathar
d. Tuticorin e. Answer not known
SO BILIQEL HET BT DLeme0 DIeLObHGIeTen @)L LD SLD.
a. [bifoeuTld b. &eoLmEBSID C. BWHHTH
d. anssissi e. alewL OFHflwaledensv
15.  Why the Kanyakumari district is famous for Rubber in Tamil Nadu?
i. Dry Climate ii. Geographical locations
iii. Adequate rainfall iv. Proximity to market
a.iand ii b. i, ii and iii c. ii and iii
d. None of the above e. Answer not known
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16.

17.

18.

19.

20.

SO BTIQeL SHestedTGLOM oTeUl LD 61HeiTe0 JLLHSG LS OLummieeng?

1. eupL Alwimedr  ST6UHlen6V 11. Flov  SIemLOLIL

111. GHEMEUWITET &|61T6) LDEHLD 1V. 9|H&BTemUled FhHend o _6iTeNg

a.1 mmub il b. i, ii oBmb iii C. 11 Lommub il

d. Guomampiwien eaihevemev e. alewL Qg fwalsdenso

Tamilnadu is the largest Indian state by area.

a. 9th b. 10th c. 11th d. 12th e. Answer not known
BphsHw  wIHevEiEeTed  SUODHBTH, UFLIL6TENED AUBH B HIH6L
© G6iTeNg).

a.%us b.10eusm c. 1leus  d. 126ug e. alewL OFHfwaledenso

Grizzled Squirrel Wild Life Sanctuary is located at

a. Coimbatore b. Udagamandalam c. Srivilliputhur
d. Tiruchirapalli e. Answer not known

hOIHD D060 ITANEVEIG FT6IITELWID DIENLOHSBIGTEN G LD

a. GamuwbLGHSITT b. 2_s®&eamiL6olb c. nfelle0edIS STy
d. Fmefyriivenef e. alemL Gzfluwelsdensv

The LCM of 156 and 124 is

a. 4836 b. 3846 c. 8346

d. 4683 e. Answer not known

156 wBmIb 124 Pl eTewiseies L5.GILUIT.LD.

a. 4836 b. 3846 c. 8346

d. 4683 e. alewL GxfNwalsvensv

The LCM of two co-prime numbers is 5005. One of the numbers is 65, then
the other number is

a. 99 b. 88 c.77 d. 66 e. Answer not known

& gmitusm elewidelen 15.0UM.0 5005. SeuBpsled e eTewl 65 6l6N60, LOBOMT(H
616001

a. 99 b. 88 c.77 d. 66 e. alewL O fwaledenso

HCF of am*1, gm+2 gqm+3 jg

a. am+3 b. am+2 c. a m+l
d.am e. Answer not known

am+l gam+2 am+3 g 15UCUIH OUTH GHHF 6IILIG

a. am+3 b. am+2 c. a m+l
d.am e. alewL Gxfwalsvensv
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21.

22.

23.

24.

25.

The Tamil Nadu State has been divided into how many agro-climatic
subzones

a. 11 b.7 c.9 d.3 e. Answer not known
SWOIDHTEG  LOTHGVTEIH  615HHM6T  CouenTewi-HTeL  [HlenevdHemen GIHTEmIL.  FHIen6woT
LDGUGTL_6VBIG6ENTS  LIfldbasliLL (HeiTeng)?

a. 11 b.7 c.9 d.3 e. alenL Oafwealeveney

The pleasure of the resentful continues for . The praise of the
patient will continue until (the final destruction of) the world.

a. One second b. One minute c. One Naazhigai

d. One day e. Answer not known

FhG Oauimeuamyll CUTNBISEHTLOE

QU(HSSHIMNEUTES, SeLIGLo

a. @m Opg b. @m BLOLD C. @ BTnD

d. @wm ®er e. alewL Gzflwalsdenso

is poverty of poverty

a. being hungry without food to eat

b. Lack of wealth to buy food items

c. To neglect hospitality

d. Being without food, clothing and shelter

e. Answer not known

QUBIGHLOUIGT GUBIHID 61HI 616l SH(HEUGTEHOUT FnmISIBTT?
® UILSBE 2 6016 606060 LIFGWIMQHLILG]

® e UIOILM(BL &em6 aMmIGaISMBEG OlFevaIlD E6060MDED E(HLILIG
al(phFHeen] o LFMbssd SHalTeug

.2 _awie), 2 ML, 2 mBalLld &6e060Ts0 E(HLILIG
alewL O fluwaiedensv

o oo o

According to Valluvar, is might of might

a. The possession of patience  b. The possession of knowledge

c. Restraining anger d. Unforgetfulness

e. Answer not known

“GUEITEMLOU|6T 6UGHTEMLD” 61| 616TMI H(HEUGTEHEUT FnmISIMITT?

a. GuTeNBAIL 6MLD b. @mfejmLemp C. Geu@enmmenip
d. Qur&ameurenio e. alewL OFHfluwalevensv

For whom it is better to die than to live?

a. One who is not merciful b. One who is Backbiting
c. One who envys d. None of these

e. Answer not known
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26.

27.

28.

29.
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QUTPHEIGT FTHED [HeVD WIT(HES?

a. OmelT BeLeuTCaTH G, b. ysBRIFBIGaITTSE,
C. Sp&aTBIML CuinToE d. @meu gHIOevm6D
e. alewL Osfuwaledensv

Which will prevent one from poverty?
a. Not Envying b. Compassion c. Not backbiting

d. Unforgetfulness e. Answer not known
auplenouleneiiy SIS 61817

a. S|(PSHBMBTENLD b. o(mepmLemD C. LBRIGaDBTnLD
d. GurFgTeuTenio e. alemL OFfwalsdemnsv

Chapter 19 deals with

a. Not envying b. Not coveting c. Not backbiting

d. Against vain speaking e. Answer not known
DIH MY 6161 19
a. SIPHBHTBTENLD b. Qe .&Temio C. LMBIGDBTenLD
d. vweflev GaFTeLeVTENLD e. alewL Oz flweaisveney

Traffic lights at three different junctions change simultaneously at
morning 8.00 am. The first light changes once in 30 seconds, the second
once in 72 seconds, the third once in 45 seconds. After 8.00am which is the
next time they change simultaneously?

a.8.03 am b. 8.06 am c. 8.10 am

d. 8.12 am e. Answer not known

epeiill  GeuaiGaum FTemev FhHAIB6MN6D o 6ol FTen6L LTHISTIL 6m&EGHaH6N
sTemev 8.00 wemld@ @Gy CrysHdHed WIBMOML HEMT. PGB 6N ESHENHLD
wempBuw 30 alemgdh@ @b HIW, 72 alemMed@& @ SHIWD, 45 aleimedbd @
SHID oTBIHSIBer. HTenev 8.00 LewldHGULIBG cpeiipl alend@GHEhd 6IIOLITIRS)|
@Gy FWSHHe0 WTBID?

a. 8.03 am b. 8.06 am c.8.10 am

d.8.12 am e. alewL Gxflwaisvenev

Find the least number which when divided by 6, 7, 8, 9 and 12 leaves the
same remainder 1 is each case.

a. 504 b. 505 c. 253

d. 167 e. Answer not known

6, 7, 8, 9 1ompd 12 6B  6TewIHeNTe0  aUGSHSUILUGID QUTIDSHI  @&IGeUT(H
(WedBWb 158 1 eurmd WaF Fpflul eTewTen6mid HTewIb.

a.b04 b. 505 c. 253

d. 167 e. alewL G fwalsvenev




30.

31.

32.

33.

34.
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The greatest four-digit number completely divisible by 2, 3, 4 and 5, is:
a. 9960 b. 9690 c. 8990

d. 9980 e. Answer not known

2, 3, 4 DBLID 58160 (PILEDLOUITES AUGULS Tnlgul BTG Bevdbs LOSICLIMW
oT6o0l 61&HI7

a. 9960 b. 9690 c. 8990

d. 9980 e. alenL  Oxflwalevemsv

If a man departing from equity covet the property of others is -

a. veguli b. vekkayam c. vegdhal

d. veruvandham e. answer not known

BT QummeT g SeuT GCBTeTEHHE0, DS H6UJ HENAIHHD D& U6
61601 DIMLPSHSBLILIHLD.

a. Geauger b. Geudbasmuid c. QoL .GHHev

d. Qaumaubsid e. alenL O fwalebenso

Those who desire the higher pleasures (of heaven) will not act unjustly
through desire of the in this life.

a. trifling joy b. higher pleasure c. worthless pleasure
d.aandc e. answer not known

SIBOENRWTEd CUEID B&ILSHmSH all(HLDLIE BT o al(Bwl SImBLD
SI6LEVTHEUBENBE  OlgUILITT.

a. dBplesHms b. Blemeowimesr Baibensd C. BaneouledevTd EeTSHmd
d. a iBpib ¢ e. alenL s fwaledemev

If he, who through desire of the abides in the domestic state

i.e., the path in which it may be obtained, covet (the property of others)
and think of evil methods (to obtain it), he will perish.
a. therul b. marul c.irul d. arul e. answer not known

o alpL SIBOEMSIUTed Heimeuet, LIBenienL Ul GuT(Henem alhHDLIL
OLITELEVTS  (GHBBHIBEN6NT  6T60T6M01 660  ©\& [HEUTEI.
a. O&mer b. wmem c. @mer d. omeT e. alenL OFflwalsvenev

Who will be despised by all?

a. Those who are jealous b. Those who are in anger

c. Those who speak useless things ~ d. Those who are without love
e. Answer not known

6160Ge0MITeVILD  6TeTeMUILIBLIGUT  WImTT?

a. GummmenLou jenL G b. ferpent Guuri

C. Uweieveond GFTBEHemen GugiLIeuT d. oenleveor@spmir

e. alemL OFfwalsvensv




35.

36.

37.

38.

The recently discovered Thiania indica is a

a. Jumping spider b. Naked - toed gecko c. Cuckoo wasp
d. Moray eel fish e. Answer not known

FUSHH0 HTBLIQSSILL L ST E6ewNgHT 6I6TLIS]

a. GBS Fevpha) b. Qaumidb &T60 OBHBHT €. HTHHBT GH6na
d. Guwr@y med LSesT d. el Gafwaledemev

Consider the following

Assertion (A):  Vernal equinox marks the beginning of spring in the
Northern hemisphere

Reason (R): During the vernal equinox, sun is directly above the Tropic of
Cancer

a. Both (A) and (R) are true and (R) is the correct explanation of (A)

b. Both (A) and (R) are false

c. (A) is true but (R) is false

d. Both (A) and (R) are true but (R) is not the correct explanation of (A)

e. Answer not known

LTeiTau(hHeaueToUBensB  DLU1SH

B (A): QenGeuseied FWlILBeITe] BTOT 6UL&HEG DMIHCETNNSHD UFHS
BTVSHFH CFHTL_bSHMBHH GBS B

snyenid (R): BenBaiwied  Folselge) Brefer  Curdl  @flwer  sLs
Cremas@ CpiT GoBsv DIeWLOHSH([HEHBGHD

a. (A) ovppd (R) @yewien afl Gosuid (R), (A) alBe sflwrer sBmpBrEL

b. (A) vppib (R) Srewib sHeuml

c. (A)afl spemed (R) seum

d. (A) wppd (R) @yewiGw s spemed (R), (A)albeg gflwmer alendasiosdso
d. el Gafwaledenev

The Indian tennis player who become the oldest ATP Masters 1000

champion
a. Mahesh Bhupathi b. Ramkumar Ramanathan
c. Leander Paes d. Rohan Bopanna

e. Answer not known

9FHS  auwFHed gLl wTedLTed 1000 gmbliwer ulL  Oeueiy  @bHSHWw
OL_avTeoNord &[T

a. w8xay L) b. JTDGLOTT FTLOHT 60 C. GUIIMEUGTL T LIWI6rD
d. Gyramer GuTLIGwT6mIT d. el Gaflwalevensv

GCD of any two prime numbers is
a.-1 b.0 c.1
d.2 e. Answer not known
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39.

40.

41.

42.

BOreni(h LSBT eTewldbemen L5.GILIT.6l.
a.-1 b. 0 c. 1
d.2 e. alewL G fNwalsvenev

Find the HCF of x3 - x2+ x -1 and x* -1.

a. (x2+1) (x2-1) b. (x2-2) (x +1) c. (x2+1) (x-1)2
d. (x2 +1) (x -1) e. Answer not known
xX3-x2+x-1uwBpd x* -1 GeuBplledr L5.6LT.61 HTEWIS.

a. (x2+1) (x2-1) b. (x2-2) (x +1) c. (x2+1) (x-1)2
d. (x2 +1) (x -1) e. alewL Gz flwalsvensv

Find the LCM of 2x3x5x7 and 3x5x7x11

a. 2x3x5x7x11 b. 2x32x52x72x11 C. 3x5x7
d. None of the above e. Answer not known

15.QuUm.Lb. &Tewid : 2X3%X5X7, 3x5x7x11

a. 2x3x5x7x11 b. 2x32x52x72x11 C. 3x5x7
d. Bmal e@a|flevemev €. alenl  C&flwialsvensv

Identity the correct statements

1. According to land slide Atlas report Rudra Prayag and Tehri are the
two most landslide rick districts

2. Landslide atlas report is prepared by Indian Institute Remote sensing

a. 1 only b. 2 only c. Both1and 2

d. Neither 1 nor 2 e. Answer not known

Flwmer SnBpISemend Sl 1o

1. plevFgflay oIl everd SNldenduleily, HSIITwTs wBBID Hamfl SiHsul F
BlevFgMey SIUTWID OCHTERIL LOTAIL L RIGETTS 2 6660l

2. mevFaflea Sileverd MbmE GhHU  OHTEEOUEHITHED  HIMBIEU6TSHDHTED
SWUMfléaslILBS Bl

a. 1 (B b. 2 w G C. 1 BmId 2 @yewi(BLd

d. 1 wBp 2 ey d. alewt Gxfuieisvenew

World’s top arms importer according to SIPRI is

a. Qatar b. India c. Saudi Arabia
d. China e. Answer not known

SIPRI @61 L9, ® eudlet (Lpeitenremil LIS EMBEHLDH WITENT

a. BHFHT b. &b c. Fa oGyiw
d. e d. el Gafwaledemev
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43.

44.

45.

46.

Consider the following

Assertion (A): India is likely to achieve energy independence by 2047
Reason (R): India is almost 80 - 85% reliant on imports for oil and coal
requirements

a. Both (A) and (R) are true and (R) is the correct explanation of (A)

b. Both (A) and (R) are true but (R) is not the correct explanation of (A)

c. Both (A) and (R) are false

d. (A) is true but (R) is false

e. Answer not known

LT eiTeu(hevaieuBens  Su1s

gaBpl (A): 2047-5@6T HSHWT HUBBeO FBHHATHMS DDLU 266N
smyend (R): @hHwur g eTemoemiul wBR@mId Hevdafl Chameudsendd 80-
85% Bmé@wdHenwl HIDLU6TENSI.

a. (A) wppid (R) @gemipo afl Gweud (R), (A)alBe sfwner alenssLom@Ld
b. (A) wspw (R) @yemiew &M euemed (R), (A)alBe aflwmer alendsos0en
c. (A) wspd (R) @rewiGh sHeupl

d. (A)w pw sfl (R) saum

d. alew Gafuweledensv

India’s academic index is in the of 179 countries

a. Bottom 30% b. Top 20% c. Bottom 10%

d. Top 30% e. Answer not known

AphsHwuralear seval S&FFHHHT GBUIBH179 BTGH6NT60 ® 6iTeNg)

a. 30% & H6Pp b. 20% &@b GBev c. 10% &b 6P
d. 30% & G d. alew GafNuweledenev

India’s Position in world Air quality index 2022,

a. 108 b. 13 c.8 d.5 e. Answer not known
® 08 HMMMISH HTHGHBUIBH 2022-60 bHwimaler & Lb
a. 108 b. 13 c.8 d.5 d. alew GafNuweledensv

World consumer Rights day is celebrated on,

a. March 7 b. March 30 c. March 22
d. March 15 e. Answer not known

® 608 HIGHTCMT 2 MenwdeT Henbd OHTERILTLLLGBD HT6T,

a. s 7 b. wrrF 30 C. Mg 22
d. g 15 d. el Gafwaledemev
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47.

48.

49.

50.

Identify the correctly matched pairs

1. Zero discrimination day - March 1

2. World sparrow day - March 20

3. International Day of Mathematics - March 14

a.1and 2 only b. 2 only c.1and 3 only

d. All the above e. Answer not known

gllwme QUTHHSHU6TEN EenenISHemens 6wl 1o

l. ut@uUTh BevevTenlD SHleolld - LOMTHF 1

2. 2 o0& FLBIGmal Herbd - omrsF 20

4. FauBxhs Hewlsy Helbd - WITF 14

a. 1 wBpid 2 @b b. 2 wl Gw Cc. 1 wBmib 3 L GBI
d. CuBasai. gmabaid  d. eloL Gxflwaledemso

HCF and LCM of two numbers are 2 and 154 respectively. If the
difference between them in 8 find the sum of the two numbers.

a. 36 b. 26 c.56 d.46 e. Answer not known

&m eewidela  5.CuUT.HT 2 1oB@mIbd  SeuBpler  W.Ho 154 ojeualm
ol EhIHHemL_ Bl o eitem Coupm® 8 6Tedlled UMM Fn(HFH6V 616316017

a. 36 b. 26 c.56 d. 46 e. alewL G5 fwaledemsv

HCEF of 23,32, 4,52 and 15 is
23,32, 4, 52 ioppd  15-681 16.QUT.61
a.2s b. 32 c.1 d.360 e. Answer not known

The product of two numbers is 2160 and their HCF is 12. Find their LCM.
a. 210 b. 180 c. 150

d. 120 e. Answer not known
B elamidailal OLHBHEL Levsdt 2160 oBBID SeuBpslest 15.0um.eu. 12 eTelled
SlouBlest 15.OWLIT.LD. HTewTSH

a. 210 b. 180 c. 150
d. 120 e. alewL G flwaisvensv
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